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Physics 8.02

SECTION : Electrostatics

x? SUBJECT: Integrating
Along a Line of Charge

| Fullscreen Version
w DESCRIPTION:
This simulation illustrates the

electric field generated by a line
] of charge, and shows haw, by

the principle of ition, a
A 1\‘* :mrmmﬂiﬁmn
can be thought of as the sum of
many discrete charge
(V] elements. Each element
generates its own field,
described by Coulomb’s Law
(and represented here by the
small veciors attached o ihe
observation point), which, when
added to the conftribution from
all the other elements, results
in the total field of the line
(given by the large resuttant
vector). In this animation, each
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Electric Field Strength
J0 (=5 10

A: surface area of square :

S (A = 3 m2in this case)

¢'=|E|Ac058
® =|5|3 m?cos 32°
® =13 Nm%C

£ 2005 Truth-n-Beauty

A = :
N = E:=p:
B: = i
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\When a philosopher savs something that is true then it 15 trivial. When he
sayvs something rhar is not rrivial then it is falsa
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